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Instructions for the Candidates
Write your roll number in the space provided on the top of
this page.
This paper consists of hundred multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
Example: @) @) @ (@ where (3)is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.
You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet on
conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There are no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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GEOGRAPHY
PAPER - 1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The concept of geosynctive was propounded by :
(1) Holmes (2) James Hutton (3) Hall and Dana (4) J.W. Powell

2. The term ‘Cosmography” was coined and divided into ‘Uranography” and Geography by :
(1) Ritter (2) Peschal (3) Humboldt (4) Verinious

3.  Ice Crystal Theory related to precipitation was postulated by :
(1) Muir (2) Darwin (3) Bergeron (4) Boven

4.  The subsidence theory related to the coral reef was propounded by :
(1) Davis (2) Darwin (3) Dally (4) Dana

5.  Gutenberg discontinuity is found between the :
(1) Crust and mantle (2) Mantle and Core

(3) Upper Core and Lower Core (4) Upper mantle and lower mantle

6.  The concept of panplain was propagated by :

(1) C.A. Cotton (2) Von Rithofen
(3) Crickmay (4) Alfred Von Wegener
7. The direction of a horizontal line on an inclined rock strata is termed as :
(1) Strike (2) Dip (3) Anticline (4) Free face

8.  Which one of the following scholars is the proponent of the turbidity Current Theory on
origin of submarine Canyons ?

(1) Salin (2) Gregory (3) Daly (4) Harry Hen

9. Paternoster lakes are :

(1) Lakes formed on glacial stairways

(2) Lakes having volcanic origin
(3) Lakes formed by a shallow stretch of water caused by sea erosion
(4) Crescent shaped lakes formed due to cut-off of a river meander
posons [N : Fapec
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1. y-31fyEfa i staemron fram gfqufed =t oft ?
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2. ‘HrEmTHR veg w1 giquifed SR S8 G IR SHumw B faanfad feam fear €2
1) f= 2) Yv=d (3) TEIE 4) aRfs

3. 37aqUu § TrEfed oAeH fhed fagra e wfamfea fomam on?
1) TR () =ifdq (3) WRE (4) @feA

4. Yo fufa 9 grafa fase fagra foega wfawmfea foean an?
1) <fa= (2) =ifdq (3) et (4) T

5. T[S STHqqal fehweh Ste OIS S & ?
(1) YISt iR gER (2) UER AR HIS
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(1) LT g (2) & Rt
CORREET (4) STABE T S
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10. “The present in the key to the past.” This phrase is related to the concept of :
(1) Isostasy (2) Diastrophism
(3) Plate tectonics (4) Uniformatarianism
11. Which one of the following instrument is used for determination of degree of stability or
instability of an air parcel ?
(1) Viscometer (2) Radiosondes
(3) SONAR (4) pH meter
12. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : Antarctica is constantly snow-covered but receives less than 8 cm annual
precipitation.
Reason (R) : Constant speedy wind blow in Antarctica.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) (A) is false but (R) is true.
13.  Which one of the following types of plate boundaries and motions are exemplified by the San
Andreas fault of California ?
(1) Transform boundary with Sinistral motion
(2) Transform boundary with dextral motion
(3) Divergent boundary with sinistral motion
(4) Convergent boundary with dextral motion
14. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Thornthwait’s Temperature Provinces) (T/E Index values)
(a) Mesothermal (i 16-31
(b) Microthermal @ 1-15
(c) Taiga (i) o4 -127
(d) Tundra (iv) 32-63
Code :
@@ (b) (9 (d)
1) v @) @ 6
@ 6 @ @) @)
@) @ @) O @
@) @ 6 @) (G
posons [N ‘ Fapec




10. ‘' ¥Rl i el IAE T 1" T8 TR fRE STAUNn § wefd § 2
(1) wwfEafd (2) YA fawqum
(3) dfgen forerifen (4) THEUAER
11. o1 S skt feeran =1 sifeeran =0t feuft o fufor & foru fore Susheor =61 Sy=m faman < & 2
(1) faenrdtex 2) Yeammew
(3) HHR (TH.3LTATIAR.) (4) pHHX
12. = & e feu TTu €, u o S1fueRed (A) TR TR i ek (R) 1 AW fean wen g1 A feu Fe @
& He T T BT |
AR (A) :  Sferolt ya FR ok 9 g1 &l © fofg o8 e 9 8 9. | off & a9 wr
FA T
& (R) : Sferlt o o AR et g e § 1
He :
1) (A) R R‘qﬁw% aﬂT(R )aﬁw’rw%l
2) (A) 3R (R) I ¥ B fohg (R), (A) T T a0 76 2|
3) (A )w% (R) 379 T
4) (A) IEA T, (R) 4 T
13. heltpifen § 99 Ugier™ ¥y ga 9 iR vz nifad & frefafed Rl # 9 ferde semim 2
(1) STHTE T o 1 SuT=Id |
(2) Sfeqomed TIfd < Wy EARd e
(3) AT T ok T STIERT
(4) <faoTerd Tfa < wre STFERT €
14. 9T - 1 % Gl - 11 & W gafad i iR 919 3 T e | W& 3™ 1 991 S
geit-1 gEit-11
( efiFiedle o ATIHTT U9 ) (2t /3 gadhish 969 )
(a) HEAAHE () 16-31
(b) GEHATI @ 1-15
(c) <&m (iii) 64 - 127
(d) ZsI (iv) 32 -63
<
@@ () (9 (d)
1) @v) (@) @) @
2 @ (@) (i) (iv)
(3) (i) (iv) (i) ( )
(4) () ()
posors \|H||H||H||||\|||H||H\||\|HH||||| |\|H|| 5




15. Which one of the following latitudes is known as the ‘Calms of Cancer’ ?

(1) 66Y%°S ()

66%2° N

(3) 25°N 4) 25°S

16. Match the List - I with List - IT and select the correct answer from the code given below :

List - I
(Instrument)
(a) Sling psychrometer
(b) Pedometer
(c) Spectrometer
(d) Pycnometer
Code :

@ (b) (9 (d)
O G @) 0O @
@ @ @) @
@) v @) @ o
@) O @ @) ()

List - II
(Measured entity)
Soil density
Radiant energy
Relative Humidity

Distance

17. The American climatologist C.W. Thornthwaite revised the scheme of the classification of
world climates in which one of the following years ?

(1) 1931 )

(3) 1941 (4) 1948

18. Match the List - I with List - I and select the correct answer from the code given below :

List - 1

(Force)
(a) Coriolis
(b) Tidal
(c)  Friction
(d) Resisting
Code :

@ ®) (© (@
W ) @ @ o
@ v @) @ o
@) ) O @) G
@) @) O @ @)

posons | ITHANRAN

List - II

(Source)

Earth’s gravity
Totographic differences
Static state

Earth’s rotation
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15. fr=fafea § 4 S o1 s1e7ie & Jn< T’ Fweard § 2
(1) 66%°S 2) 66V N (3) 25°N 4) 25°S
16. ei-1 &1 Gei-11 & T Gafed it iR 919 ST e | ¥& ST &1 9291 S
geit-1 -1
( SUSRITT SRT ATH ) (|TY I hT ATH )
(a) T&AT HEshHIHI () THE =1
(b) TSR (i) fafwor =i
() THIFRHIX (iif) ETHET ST
(d) foerm iv) T
<
@ (b) (9 (d)
1) @) Gv) @) (i)
2) @) @) @ @
3) (@v) (D) @) ()
4 @ @) (@v) (i)
17. 3TEREA Soerg fovmg, W@esq, dFeae 7 fhg ad o fava & oy & aifieRol st @hiH &l
Geie foram o ?
(1) 1931 2) 1934 (3) 1941 (4) 1948
18. EIt-1 &1 Gei-11 & Y Gafed e iR 1= ST e | W& ST &1 991 i
geit-1 Teit-11
(9 ) (i)
(@) ST () gl
(b) IR (i) TereRfaew fand
(c) =¥ (iii) Tfqw sraEen
(d) RS (iv) gl Rl HUH
<
@ (b) (9 (d)
1) G@v) (@) @) (@)
) (@(v) @) @ @
(3) ( v) (1) (i) (i)
4 (v (@) @) (i)
J-08018 |H| 7 Paper-II




19. Match the List - I with List - I and select the correct answer from the code given below :
List - I List - II
(Process) (Outcome)
(a) Decomposition i CO,
(b) Transpiration i) O,
() Respiration @) CH,
(d) Photosynthesis (iv) Water vapour
Code :
@ () © @
O 6 @) @ @
@ v @) 0 @
@) G @) O @
@) @ @) @ o
20. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : The monsoon of southern and eastern Asia driven by the location and size
of the Asian landmass and its proximity to the Indian Ocean.
Reason (R) : The wind and pressure patterns in the upper air circulation are associated
with generation of monsoonal flows.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) (A) is false but (R) is true.
21. Match the List - I with List - I and select the correct answer from the code given below :
List - I List - II
(Ocean Trench) (Depth in meters)
(a) Tonga i 7760
(b) Kuril Kamchatka (i) 10540
(c) Philippine (iii) 10880
(d) Romanche (iv) 10500
Code :
@@ (b) (9 (d)
1 O G @) (@)
(2) (@) @v) @ @
®) @v) @) @O (@)
@4 @ @ (v) (i)
posors, 1IN ; Faper




19. G-I & Geli-11 & W Fafed witee 3R 9 T T e | 9@ 3TN & 994 FIT

HEit-1 HEit-11
(uferan) (uftorm )
(a) 3TTEA i CO,
(b) TSI i) O,
() vaud (i) CH,
(d) TR HA (iv) STa arsd
<< :
@@ (b) (9 (d)
1) @ (@v) (@) (i)
(2)  Gv) () (@) (i)
(3) (@) (v) (@) (i)
(4) (D) (@v) @) (@)
20. = < SAferer fau T €, ww @i ifieRe (A) 3R T @l deh (R) 1AM fen mn €1 AN few e
e W T e T TAT FIIQ ¢
AR (A) :  <ferolt 3TR gl TR 1 aeA TRERE yEve @t sEff o SHE SR 3R
IR HEMER & SHHT THIUdT §RT =ferd &l © |
e (R) : 3fae arg aRE=Ror § 9 31R <@ & Yo HHEH YT & goi 9 Fraf-od &d § |
He :
(1) (A) 3R (R) I ¥ T 3R (R), (A) T T&l AR |
2) (A) 3R R aﬁ'—hw%m (A)aﬁﬂ'@fmﬁ%l
(3) (A) FH T, (R) 39HA T
4) (A) AT, (R) TA T
21. GE-1 S GEi-11 & 91 GAfad S R 99 ST %e 9 9@ ST A1 =999 Fifae |
HEit-1 HEit-11
(TEHTR TE) (et & TS )
(a) 2Fm G) 7760
(b) IR FHHTIH (ii) 10540
(c) Trefid (iii) 10880
d) A= (iv) 10500
<
@@ () (9 (d
1) @ @) @) (Qv)
(2) @) (v) (@) ()
(3) (iv) (iii) (i) (i)
(4) (i) (i)
J-08018 |H| 9 Paper-11




22.  Which one of the followings is the main source for a vast reservoir of relatively inert nitrogen
in homosphere ?
(1) Volcanic activities (2) Fossil fuel burning
(3) Acid rain (4) Global Warming
23. In which of the following directions the Nazca Plate is moving ?
(1) East (2) West (3) South (4) North
24.  Which one of the following sequences is the correct one in a littoral zone from land to sea ?
(1) Backshore, Foreshore, Nearshore, Offshore
(2) Foreshore, Backshore, Nearshore, Offshore
(3) Offshore, Nearshore, Foreshore, Backshore
(4) Nearshore, Offshore, Backshore, Foreshore
25. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : In low latitudes, sea water in the deep cold zone does not freeze.
Reason (R) : The deep sea water does not remain under intense pressure because of its
high salinity.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4) (A) is false but (R) is true.
26. Which one of the followings is the correct average range of worldwide variations in sea
water salinity ?
(1) 34% to 37% (2) 27% to 29% (3) 37% to 39% 4) 21% to 26%
27. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :
Assertion (A) : Energy flow shifts from production to respiration in the entrophic stage,
with oxygen demand exceeding oxygen availability.
Reason (R) : Stratospheric ozone layer depletion causes skin diseases.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.
posons | ITHANRA 1 Fapert
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26.

27.

frefefiad § @ HEd (homosphere) H HUfaen 9 9 1Ry AE2IsH o faene Wer w1 g ©id
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1) SeremgEE fafafiat (2) SfaTed o S

(3) 7Rt ol (4) Sfvaw oA

TTSTeh! Tge foRd feen &t IR I W 2

1) 9@ (2) TfveH (3) <fem (4) TW®
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28.  Which one of the following groups of natural elements in living matters make up more than
99% of Earth’s biomass ?
(1) HOC (2) N,Ca K B) H,Ca N (4) S, H,Na
29. Which one of the following phenomena plays a vital role in the dispersion of majestic
dinosaurs ?
(1) Volcanic eruption (2) Zonal faulting
(3) Global cooling (4) Continental drift
30. The U.N. Conference on Environment and Development held in Rio de Janeiro during June
3 - 14, 1992 was chaired by :
(1) George W. Bush (2) Maurice F. Strong
(3) Tony Blair (4) Rachel Carson
31. Match the List - I with List - II and select the correct answer from the code given below :
List - I List - II
(Emitter) (Emitted Products)
(a) Decaying plants (i) Carbon monoxide
(b) Volcanoes (i) Salt spray
(c) Ocean (i) Hydrogen sulphide
(d) Forest fires (iv) Sulfur oxides
Code :
@ ®) © (@
O G @) O @
@ G @) @ o
@) G @ @) 0
@) @ @@ 6 @)
32. Who among the following scholars laid down the foundation of dichotomy of general versus
species Geography ?
(1) Immanual Kant (2) Sebastian Munster
(3) Bernhard Varenius (4) Peter Apian
33. Which of the following pairs does not match ?
Author Book
(1) Al-Masudi - Router and Realms
(2) Al- Balaki - Kitabul Ashkal
(3) Al- Biruni - Kitab-al-Hind
(4) Ibn - Khaldun - Mugaddimah
posas || HRINMCRRRI 2 Faper




28.

29.

30.

31.

32.

33.

Teita g1l T WTepfaeh el o FHTeiad FHel § S 91 Teh Gt o 99% 9 SATRT Jal-HH (SE9R)
T 7 ?
(1) H,0O,C (2) N, Ca K (3) H,Ca N (4) S, H, Na

v ferar & afgu # frefafed § 9 &1 9 T Teagel aieeT g2
(1) SSAHEE 3TR 2) & YA
(3) dfvas e (4) wEEYE forera

fRall < SFR o 7 3 - 14, 1992 % <RE TATER IR faehrd W RS 9,09, T i sTeasrd
foRe ot ot ?

(1) SISl e=g, 99 (2) HIRE Tk €M
(3) o =R (4) = HEA

Tt- 1 1 gt - 11 & 1 gaferd s ok F= feu Tu e § § 9@ F & =91 i
g - 1 T - 11

( 3eEsiah ) (Seafsta )
(a) &FHA TRy (i) e HHAES
(b) SATAHE! (i) &
(c) WeMER (ili) TBESSH HCFREES
(d) =9 &= (iv) Hew AlEe
<
@@ () (9 (d
1) @) @Gv) (@) ()
(2) (@) @Gv) @) @
®) (@) @@ @) @
4) (@) @) @) (i)
frefafed 5 9 frm fagm 3 9w s foa spira & fgarem =it e T off 2
(1) THISTE Wi (2) WA X
(3) @ere oY (4) X TfEE
freafafaa § @ =0 o 30 9@ Afed T8 €2
[gECED &R
(1) Ta-uge - ®R TE ey
(2)  SAA-SITATHRT R ENE SR CA
(3) oTA-foet - frae-sra-fes
(4) TI-@legd - HehrgH
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34. The Hydraulic Slope Theory was propounded by :
(1) R.E. Horton (2) Darwin (3) Penck (4) Mallot
35. Who among the following scholars emphasized on the behavioural approach in
Geography ?
(1) Johnston (2) Kirk (3) Burton (4) Gregory
36. Which one of the following in the correct sequence of German geographers contributing to
the development of geographical thought ?
(1) Ratzel - Troll - Hettner - Peschel
(2) Peschel - Hettner - Ratzel - Troll
(3) Peschel - Ratzel - Hettner - Troll
(4) Troll - Hettner - Peschel - Ratzel
37. ‘The same environment carries different meanings to people with different ways of living
and culture’. This statement is related to which one of the following concepts ?
(1) Probabilism (2) Determinism
(3) Possibilism (4) Stop and Go determinism
38. Which school of thought first developed the idea of possibilism ?
(1) Russian school (2) German School (3) British School (4) French School
39. “The dominant idea of all geographical progress is that of terrestrial unity”. This statement
is attributed to :
(1)  Friedrich Ratzel (2) Vidal-de-la-Blache
(3) Richard Hartshorne (4) Jean Brunhes
40. Which one among the following perspectives was responsible for redicap transformation in
the sprit and purpose of geography ?
(1) Structuralism (2) Post-modernism
(3) Humanism (4) Quantification
41. Which one of the following states in India recorded the lowest sex ratio as per 2011 census ?
(1) Uttarakhand (2) Tamil Nadu
West Bengal (4) Himachal Pradesh
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(1) W3 7eH (2) =ifdd (3) U® (4) WdRE
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42. Which one of the following countries recorded highest population density as per U.N.
Demographic Year Book, 2010 ?
(1) India (2) Japan (3) Bangladesh (4) Pakistan
43. Which one of the following statements correctly depicts the threshold according to Central
Place Model ?
(1) Point at which consumer movement is minimum.
(2) Distance far which consumer will travel for a service.
(3) Minimum number of people needed to support a service.
(4) Economic base of a service centre.
44. Which one of the following groups of states in Indian recorded Sex Ratio higher than 950
according to year 2011 census ?
(1) Andhra Pradesh, Odisha, Telengana
(2) Andhra Pradesh, Uttar Pradesh, Maharashtra
(3) Uttar Pradesh, Punjab, Andhra Pradesh
(4) Haryana, Bihar, Andhra Pradesh
45. Which one of the following Models is explained by the given figure below :
* Market
Range
(1) Weber's Model (2) Central place Model
(3)  Von Thunen Model (4) Gravity Model
46. Which one of the following code is correctly depicting the pattern of distribution of population
among cities by ‘d” curve in the given graph ?
= 1000
o
<
8
g
= 100
S
=
g 10 d
& c
0 10 100 1000 10,000
Rank
Code :
(1) Primate (2) Slepped order (3) Binary (4) Rank Size Rule
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42. YA SHANTH® 3R % 2010 o TR ¥ <9 # Sooaq SHE@ ¥ @ (Ioish ol fohalriel
) <1 foham T o ?
(1) R (2) STH (3) SR (4) feREH
43. frafafed § § ®F 9 T HoH w0 H e w5t gae @ feifed s § 2
(1) e farg SRl W U AT AT ¥ |
(2) a8 g0 S for Susfre Ha o fore @7 Ham |
(3) 9 K1 HHA A F foIC AT hl Aok Ge&A |
(4) A HZE w1 AH SMUR|

44, Trefafed ¥ § T & forg T8 7 2011 HT SATOAT H 950 9 31ferer T o1 <1 foram o ?
(1) Y gew, S, qAT
(2) Y YW, I Y, HERIL
(3) W URW, USE, Y gIW
(4) TR, foRR, o7y uw

45. 9 feu T emwg gy fr=fafed § foaa giea =1 =amemn =i 82

)

(1) R 1 Aied (2) HEr T Hied
(3) O g Hied (4) TECTHYT HiSd

46. = fou U o H 9% g WRA & " sHeen famu w e fefated 8§ § s ge w@@

0 10 100 1000 10,000
Syofy

) WHE (2) HIR A 3) ke 4) {F-uEs-wd
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47. Match List - I with List - IT and select correct answer from the code given below :

List - I List - II

(Settlement Alignment) (Settlement Pattern)
¢

A . .

(a) 3 Qoo (i)  Uniform
%2

(b) & (i) Star Shaped

nﬂn Ean
© | uuu““un (iii) Linear

e o o
@ |**° (iv) Cluster

e o o
Code :

1 @) @) @) @
(2) @) @Gv) @ @)
G @ @ @) @)
@ Gv) (@) @

48. Which one of the following statements indicates to the potential use of a service at a location
according to Gravity Model ?

1) Direct relationship to both population size and distance

2) Inverse relationship to both population size and distance

3) Direct relationship to population size and inverse relationship to distance

1)
)
®)
(4) Direct relationship to distance and inverse relationship to population
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47. GEt-1 H GeE-11 % 9 gafaa Hifee o) = 5T fe § 3| &1 921 i

et Het-11
(S @t ) (ot Yot )
3 So
(a) %:% ()  owfaaw
b) | * (i) AR

(<) (iii) TET
(d) (iv) Tfesd
e
@@ (b)) (o) (d)
1) @) @) @v) (@)
(2) @) (@v) (@) ()
G) @ @) @D ()
(4) (v) (D) () ()

48. TEETHYY Hied % ATUR Tafearfa W Fa1 o1 fava Iwdm fefafad § § «F @1t weF 3ha
HIAT & ?

(1) SHE F SRR R T SH o T T Troee

(2) SHEA H AER R T A o Wiy fawdia gy

(3) SHEA % SR % WY YA Ty iR g o Wy wfaeim gwery
4)

(4) TU & Y YOy IRy SR SHe & e foada gy
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49. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Demographic terms) (Explanation)
(a) Cohart (i)  Birth rate minus death rate
(b) Natural increase (i) A population group unified by a specific common
characteristic
(c) Total fertility rate (iii) Average number of children that a women will bear
through her child bearing years
(d) Dependency ratio (iv) Measure in terms of number of dependants against
productive age groups
Code :
@ ) © @
O @ @ @ 0
@ @ O @ W)
G) O @) @ @
@) (v @ O G
50. Which one of the following groups of states of India recorded more than one fourth of total
population of the country in the census year 2011 ?
(1) Uttar Pradesh, Assam, Punjab
(2) Uttar Pradesh, Madhya Pradesh, Karnataka
(8) Uttar Pradesh, Andhra Pradesh, Punjab
(4) Uttar Pradesh, Gujarat, Haryana
51. Among the following scholars, who introduced the concept of ‘least-transport-cost location’
using the frame of ‘locational triangle’.
(1) W. Isard (2) MK. Bandman (3) D.M. Smith (4) A. Weber
52. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Economy) (Features)
(a) Subsistence Economy (i) Market competition as primary force shaping
the production patterns
(b) Commercial Economy (i) Self-sufficiency, low production and low
population density
(c) Intensive Subsistence Economy  (iii) Self-sufficiency, high production and high
population density
(d) Extensive Subsistence Economy (iv) Little exchange of goods and only limited need
for markets
Code :
@@ (b) (9 (d)
O @ @@ 6 W)
@ G O @ @
@) G @ @) 0
@ 0 ) @ @
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49. G-I 1 Gei-11 % 9 Gafaa Hife iR 9= ST fe § | W& S| &1 991 i
Tei-1 E-11
( SfeRaRTT ITeg ) (=aTeEAr)
(a) IR () T LI TH T
(b) UrRfdw Ffs (i) fafre weEm faeiod g1 Thithd SHEE 93
©) T ITH R (iii) T GRT 379 THIR I i 3T % SR S o=l b
siraa den
(d) eAfFaa T (iv) ScUeh 3T UqE H STfHYdl sl HeA 1’
<
@@ (b) (o (d)
(1) (D) (@v) (@) ()
) @) @) @) ()
3 @ @v) (@) (i)
@) (@) @) @ ()
50. ¥RA H oAl o ThE §HE | 2011 ST SFOHT o STTIR ¥ S Hol SHEEAT & Th 9iemE 9 s
SEEA €S i off ?
(1) I Y, ATEMH, STl
(2) W YRV, HEAYSH, FHAlCH
(3) S YW, YUY, SIS
(4) S Y, TORM, BN
51. fr=fafed fagri § 9 fem  sraftafa B’ 1 @@= (%) 1 3&00 i g =Faq- e -
ARTG Sfafeefa’ st sterEron gfaurfed i eft ?
(1) g, T9ME (2) TAS deHd (3) <um fEy (4) T ER
52. Ge-1 1 Gei-11 o 91 Gafad L i) = fSU 0 e § § W& S & 9o L
Heit-1 -1
( IrefoaaEe) (fagrear)
(a) Trarig stefeereen ()  oGH oS gfaeqdl Scared ugfadi % i § wefies
I % Y HE HA 7
(b) forfseR STeferaen (i) oTeH-FeRa, 0 SEeH @R FH SEEN ¥E
(c) ¥ fafe steieraeen (iii)  3TTeH iR, 3= I SR Stfereh S o
(d) faequ frafe stefeeren (iv) WMl I ST SEH-TGH 3R JSR & 9
HifHd sTTergarehdl
e
@@ (b) (o (d)
1 @) @) @ ()
() (v) (@) () (i)
(3) (iii) (ii) (iV) ()
4) (@ (@v) (i) (i)
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53. Which one of the following code is correct showing number of vertices, edges and Diameter
for the given network ?
Vertices Edges Diameter
(1) 10 7 5
(2) 10 10 7
(3) 10 5 6
4) 10 7
54. Match List - I with List - IT and select the correct answer using the code given below :
List - I List - II
(Whiltlesey’s Agricultural Religions) (Name of Countries)
(a) Commercial Dairy Farming (i) Argentina
(b) Commercial Grain Farming (i) Sri Lanka
(c) Nomadic Herding (iii) New Zealand
(d) Commercial Plantations (iv) Mangolia
Code
@ ®) © (@
W @ 0 ) G
@ O @ @) @)
@) (v @) @ o
@) @ @ 0 @
55. Which one of the following factors most dominants in the localisation of high-tech firms of
silicon valley in California ?
(1) Cheap Labour (2) Access to the market
(3) High speed transportation (4) Agglomeration economy
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53. fAfafEd § § &F | e U T Feadh o afeas, Torsl IR SHH T &t G&A Fl 9l ¢ 7

eSO e

1 10 7 5
2 10 10 7
@) 10 5 6
4 10 8 7

54. -1 1 Geli-11 o 912 Gafad L iR = U 0 e § § W& S & 9o =L

efi-1 gefi-11

(fe2ostt o i waem) (29Tt o W)
(a) afuIieR g7 Icared (i)  ersifoe
(b) foricen ST=-3IcIeA e
() rifes e (i) Sirete
(d) enforiceres dreko (iv) HIfe=n
e

@@ (b) (o) (d)
1) @ @ @v) (i)
2 @O @ @) (@)
() (v) (i) (@) (i
4) @) @v) (@) ()

55. kiR o fafeteni it st Ssa-derrish (-2 ) WAl ol fafeafd § f=fafad § 9 %= @
HRE FAfeeh gurego 7 ?

(1) T& 9| (2) SR d% U5
(3) e Tifd afered (4) S srefeHerE
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56. The Rimmer model for the development of land transport system in less developed economics
was proposed in which of the following years ?
(1) 1975 (2) 1976 (3) 1977 4) 1978
57. The formula PI= %—% where PI = Agriculture Productivity Index ; Y = Total production
of selected crops in unit Area; Yn= Total production of same selected crops at national level;
T=Total cropped area of the unit ; Tn = Total cropped area at national scale.
Who applied this formula for measuring agricultural productivity levels ?
(1) Bhatia (2) Enyedi (3) Weaver (4) Shafi
58. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Countries) (Mineral Reserves)
(a) Liberia @i Iron
(b) Guinea (i) Uranium
() Togo (i) Phosphate
(d) Niger (iv) Bauxite
Code
@@ (b) (9 (d)
1) Gv) (@) @ @
2 @ Gv) (@) (@)
G @ @ (@) (i)
@ @) @@ @ )
59. Which one of the following conditions Alfred Weber introduced in his concept of “Locational
Triangle” ?
(1) Both ‘R1” and ‘R2" are found universally
(2) ‘RY is fixed but ‘R2’ is found everywhere and both are pure
(3) Both ‘R1” and ‘R2" are fixed and pure
(4) Both ‘R1” and ‘R2" are fixed and gross
(where : ‘R1” and ‘R2’ are two raw materials)
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59.

o A frafafiad § 9 frg od fasmasiian stefeerensti § y-uftasd gorell o fasm™ Bq wied
EIRRIECRERIRIW

(1) 1975 2) 1976 3) 1977 (4) 1978
Y T . . C .
A Pl= S+ STl PI = AT GAhioh; Y= b8 & H TAMd HEA hl Fol ScaIeH;
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(1) wrfe (2) T (@) = (4) TH

-1 1 Geit-11 % T Fafaa L AR T U 70 Fe § 4 9@ ST A1 =21 &

e - 1 Tl - 11
(3oT) (@M= WUEr)
(a) ESREm () @
(b) Tt (i) FFEE
(c) =2 (il) TR
(d) TSR (iv) ifeTEe
<
@ (b) (9 (d)
1) @v) @) @) (@)
2 @ (@v) (@) (i)
®) @) @ (@v) (i)
4) (@) @ @ (@)

3TEhE IR 1 79! * srafeufa Beeror’ 1 staumen § frefafad § 9 fha ww o 6 @ a1 ?
(1) ‘RY 3R‘R2 IH ™ €9 & 9& S & |

2) ‘RU 9@ 3 W ‘R Ieh SFTE I ST &1 3R 21 Y5 B |

(3) ‘RI’ 3R‘R2 THi faa 3R Yg 2 |

() ‘R1’ R ‘R2’ THI F1ad IR ¥l (gross) B |

:R1” 3R ‘R’ < &=l A1 ©)
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60. Match the List - I with List - I and select the correct answer from the code given below :
List - I List - II
(Sectors of the Economy) (Activities)
(a) Primary (i)  Research endavours
(b) Secondary (i) Train services
(c) Tertiary (iii) Pearl culture
(d) Quaternary (iv) Spinning cotton year
Code
@ ) © @
O 6 @ G W)
@ G @) @ o
@) @ @ @) ()
@) v G O @
61. In which one of the following book/works did Mackinder in 1919 renamed his theory of
‘pivot area” as ‘Heartland’ ?
(1) World War and Geography
(2) The Democratic ideals and Reality
(3) The Round world and The winning of the peace
(4) Foreign Affairs
62. The Organic Theory of state was propounded by :
(1) Ratzel (2) Mackinder (3) Isaiah Bowman (4) Haushoffer
63. The book ‘Geography of peace’ is authored written by :
(1) Mahan (2) Spykman (3) Haushoffer (4) Ratzel
64. Which of the following catagories does Chile belong to according to its physical shape ?
(1) Compact and elongated (2) Elongated
(3) Fragmented and elongated (4) Fragmented
65. Whose works epitomized the relationship or political geography with foreign policy ?
(1) Adolf Hitler (2) Friedrich Ratzel (3) Mackinder (4) Karl Haushofer
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60. -1 1 Fei-11 o F1e GAfad i iR = fSu 0 e § & W& S & =90 =L

g1 -1
( 3refeTaRen & a7) (nifafafeat)
(a) HIefER ()  STIHYE yI™
OIRESRED (i) Yo Yard
(c) Tordtaer (i) TS A
(d) =T (iv) T hare
<< :
@@ (b) (o) (d)
1 @ @) @) @)
(2) @) (@v) @) @)
®) G @) (v) (i)
4) (v) () (@) ()
61. Trfafea § @ fora gwae/$fa H Afthet 7 ad 1919 & o197 fagia ‘ugee ofan’ =1 ‘s’ & &
T qF: AHHRIT foham o1 ?
(1) 9 IR TS SHUTH
2) f< SHiskfew sTEfeacy Ue dueel
@) T e g ue g fafin s1fw fg 9w
(4) TRRA THRIH
62. T fufo 1S9 fagia ffafea 9 9 foeges g wfqarfeq foran o on ?
1) T (2) AfwveR (3) == & (4) TR
63. &I ‘SR SAE g’ freafafed § 9 fegew @R
1) ¥ (2) TIEHEA (3) T 4) T
64. 31T 3R o TIER foeit ffared § § forg Foft & S@Tq o1 € 2
(1) wea iR Sl ) <t
(3) wfed i) Aftla (4) dfeq
65. TrAfafad § § foraent wfaal § Tsmifass spirat o1 fagw Aifa & @y dee =1 yfafted fean T g 2
(1) Wk feeaw (2 FfgFisa  (3) AfFTe (4) wiel e
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66. Match the List - I with List - I and select the correct answer from the code given below :
List - I List - II
(Country) (Official Language)
(a) Luxembourg (i) Arabic
(b) Algeria (i) Russian
(c) Chile (i) French
(d) Kazakistan (iv) Spanish
Code
@ ) © @
O O G @ W
@ @ G @)
@) @ 6 @) @
@) (v @ O G
67. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Names of Books) (Names of Authors)
(a) Human Universals (i) W.H. Durham
(b) The Social Conquest of the Earth (ii) Donald E. Brown
(c) Not By Gene Alone (iii) Edward O-Wilson
(d) Coevolution (iv) Peter J. Richerson
Code
@ b © @
O 6 @ G @)
@ @) O G G
@) @ G @) 0
@) @ @ O @
68. In India, how many are the officially recognised languages ?
(1) 20 2 21 3) 22 4) 23
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66. Fei-1 1 Fei-11 o F1e GAfAd i IR = fSu 0 e § 9 W& S H =0 =L

67.

68.

Tqet-1

-1 1 Gelt-11 % T FAfaa L AR T U 70 Fe § | F& ST A1 997 &Y

-1
(ST )
() STt
(i) wH
(i) T
(iv) =@
(d)
(iv)
(i)
(i)
(i)

geit-1 -1

( q&Teh ST 7 ) (@ T A )
(2) T I (i) T=YTE. @
(b) T I Shoere 1w § 31 (i) THE 5. FeA
(c) e o S ST (iii) TS IN-foedd
(d) HI-ZAIIH (iv) X St fadH
e

@@ () (o (d
1 @ @) () ()
2)  Gv) () (i) (i)
3) (@) (@) (@v) (@)
4) (@) @Gv) @) ()

YA H TR g H=0d] 9T ATl vl G forat €2

1) 20

1)
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69. Match the List - I with List - I and select the correct answer from the code given below :

List - I List - II
(Religious Community) (Population Share (%), 2011)
(a) Christian @ 1.7
(b) Buddhist @i 0.4
(c) Sikhs (i) 2.3
(d) Jains (iv) 0.7
Code :
(@ (b) (o) (d)
@O @ G @)
(2) (v) @) @@ @)
G) @) @Gv) @O @)
4 @ @ (v) (i)

70.  Which of the following characteristic features are possessed by the nordic race of India ?
(1) Long stature and round face (2)
(3) Medium stature and long face (4)

Medium stature and round face

Long stature and long face

71. Which one of the following statements is not correct about the selection indicators for
conducting any study of development process ?

(1) Either input or output indicators must be selected.

(2) Negative and positive indicators must not be clubbed with each other.
(3) Indicators must emerge out of the concept of development defined in the study.
(4) Indicators of income and expenditure can be clubbed together.

72. Match the List - I with List - IT and select the correct answer from the code given below :

List - I
(Name of City)

List - II
(Period of being planned)

(a) Kanchipuram (i) Post-Independence
(b) Jaisalmer (i) Colonial
() Kodaikanal (iii) Medieval
(d) Bhilai (iv) Ancient
Code :
@ b © @
O 6 @ G @)
@ @ G @)
@) @ @) O @
@) (v G @ @
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69. Fei-1 1 Fei-11 o §1e GAfAd i iR = fSu 0 e § & W& S & =0 =L
efi-1 gefi-11
(enfier wET) (SEE feErd (%), 2011)
(@) TEE G 1.7
(b) s (i) 0.4
() fom (i) 2.3
d) A (iv) 0.7
<
@@ () (9 (d
® @ @) @) (i)
() (v) @) @) ()
3) (@) @Gv) @) (@)
@ @ @ @Gv) (i)
70. 9NG &1 Aifesw wfa (@) % o frefafad § @ 9 - o fosvand 3 €2
(1) N %5 AR e =8q (2) HEIH FT SR A =eq
(3) HEIH FT SR T <Rl (4) <N HT SR W <l
71. ot fomma wfsran o1 & & fore == geshisl & s § ffafed § 9 SF-91 Few 92 7@ © 2
(1) STYE Yelehich el SPIYE Yerchich hl =4 37eRg fehal STHT =T |
(2) THRRIHSE 3R HhRIHE YR hl Teoh GO o Y T8l o ST <16 |
(3) ki Mv=a € W, Tad | IRVIA faehm™ &t Taeron § e =g |
(4) T 3R T F FAKIhI Hl Tk T 6 A FHATET ST Fhal T |
72. Gei-1 1 Ge-11 o |1 GAfad i oIk = fSu 0 e § 9 9@ S & 9o =L
HEit-1 -1
(ITE T ) ( IISHET ST ST bl 37afer )
(a) RI=TGH () TR FHA
(b) SIETR (i) Sfaffafies
(c) hISTHATA (il) T HIA
d) faars (iv) U= S
<<
@@ () (9 (d)
® @ @) @) (i)
) @) @) @) @)
(3) (iii) (iv) () (ii)
4) () (i) (i)
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73. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : The partition of India in 1947 provided an impetus for town planning
activities in the country.

Reason (R) : Resettlement of displaced persons and providing them employment
opportunities created a big opportunity before the town planners to construct
new town and make provision of amenities and facilities in existing towns
especially in north Indian states.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

74. Which one of the following criteria was used to demarcate 15 agro-climatic regions, which
were accepted by the Planning Commission of India (now NITI Aayog) to initiate regional
approach to agricultural planning during the Eighth Five-Year Plan ?

(1) Climate, soil characteristics, and rainfall

(2) Climate, soil characteristics, and water availability

(3) Climate, soil characteristics, rainfall and water availability

(4) Climate, cropping pattern, rainfall and water availability

75. Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Name of scholars developed scheme (Number of Meso regions)
for delineation of Planning Regions)

(a) Bhat and Prakasarao (i 42

(b) P. Sengupta (i) 35

(c) C.S. Chandrasekhar (iii) 48

(d) V. Nath (iv) 51

Code :

@ b © @

O O 6@ @ W)

@ @ G @)

@) @ @) O @@

@) v 6 @ )
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73. i 91 e fou T €, U e (A) 3R TER deh (R) §1 A U Y e # 9w s g
JATURT (A) : 1947 H TC YRA TIHSH | S0 § <=7 = Tfafafei 1 o fier |
& (R) : foreentad @il & et iR 3% SR o STTER Gedl I & 1 3 TR it
(2R Y ) % forw fasioeRt ST 9Ra & T § U IR a9 SR faeme sl
H gfaemd gean s i o9l STaE YeM e |

<< :

(A) 3R (R) SHT T&t & 9901 (R), (A) T & =A@ |

(A) 3R (R) aﬁw“r%%ax ), (A) FI & =MEn T
(A) T T, fFg (R) Tord B |

(A) T T, g (R) &t B |

1)
(2)
(3)
(4)

74. 15 HfU-SoamEet & (W-Faehics Rey) &1 HiHieT ® zg FHfatad ¥ 9 g & arcs
o1 FAT foran 7o fS9 R o AISHT ST (SdAE Hifd ST J snedl Yeesia A o S i
IS &g & gieeniol Tt YW HL & fw Wier fhan|
(1) e, ga1 I SR e
(2) STy, a1 1 SR A HT YA

(3) Soary, 9 U, gfte IR Sa i SueTsa

(4) oAy, wHA Yo, gite SR S it SueTeud

75. Gei-1 S Gei-11 o |1 gafad i oIk = fSu 0 e § § 9@ S & 9o =L

g1 Tqe-11
(fagri o 1 fS=2i ST &=l st (T (Meso) &1 ahi HE&AT)
O 3T Y 3 S )
(a) g 3 YHRRH @) 42
(b) . F @) 35
() HI.TE. ==3rEr (i) 48
(d) @t (iv) 51
<< :
(@ () (o (d)
L @ @@ @) ()
2 G @) @) @
(3) (@) @v) @ ()
4 @) @ @) (i)
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76. Which one of the following criteria was used to delineate the National Capital Region for
planning purpose ?
(1) Functional unity and Physiographic characteristics.
(2) Functional unity, Administrative contiguity and demographic characteristics.
(8)  Functional unity, Administrative contiguity and distance from New Delhi.
(4) Functional unity, Physiographic and demographic characteristics and Administrative
contiguity.
77. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Dimension of development) (Indicator of development)
(a) Economic (i)  Percentage of reclaimed land to total waste
land
(b) Social (ii) Percentage of minority voters to total
minority electorates
(c) Political (i) Percentage of female literates to total female
population
(d) Ecological and Environmental  (iv) Agriculture production per hectare
Code :
@ ®) © (@
O O @ @) )
@ @ @ @) 0
@) G @) O @
@) ) @ @ 0
78. Which one of the following statements is not true about the concept of development ?
(1) Development is a continuous process.
(2) Development is a multi-faceted process.
(3) Development stands for growth without a change.
(4) Meaning of development change in time and space.
79. Read the following statements and select the correct answer using the code given below :
(a) A Perspective Plan may also be termed as long term plan.
(b) Perspective Plans are prepared for a period of 20-25 years.
(c) A Perspective Plan do not ensure flexibility.
(d) Perspective Plans ensure spatial integration of plans at different hierarchical levels.
Code :
(1) Only (a) is correct
(2) (a) and (b) are correct
(3) (a), (b) and (c) are correct
(4) (a), (b) and (d) are correct
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76.

77.

78.

79.

ST YA 2 TS TSI & Sl S0@E T9R & =g Ffafed # § foa grde sty faan
T ?

(1) ThMEHS Tahdl SR Y3Tehfaeh forms

(2) TS Thdl, TRIEHH Gordl AR SRt o

(3) ThMAHS Thdl, TRMEh Hordl ik 7% foeeht 9§ g

(4) YeRMIHS Tahdl, YTHiaeh IR TS faeear qen yemafis dera

Geit-1 1 Tl - Ilé?magﬁmaﬁaﬂiﬂ%ﬁqm@ﬁﬁWWWWﬁ
git-11
(fawma & gu@is )
Fd I Y K1 g | 3gIRa gfy st gfaeradn
i) P ATHEIH A= - 701 i g1 § areqd |
TS A TTe] STCTHEAH Al i Tl
i) el AigeT STHE S o | Afger HaRl ht
EIMEE]
Tfd THRI FY e

frfafea § & & 91 FuF foehe &t TauRen & Hay o §el T8 © 7
(1) foaere T gaa afshan |
(2) foaerrd TF agHET Uik B |

(3) faemm = stfiyum formm forelt afems =t afs 21
(4) THF IR TIM & SIER T w1 s1ef a5t S ¢

frefafad sl & 7€ oIk = fou Tu e § | W@ SR A ¢
(a) weE A 1 <rEfafy s ot el ST Hehdl §

(b) HeRf ArSHT 20-25 T6T ST Ay F forg TaR 6t A T

(c) weel dren ® FoEar T et §

(d) Heuft deend fafa= S i R st & et ghed gifved s €

(a)ﬂ'é%l

(a) 3T (b) %ﬁ%ﬂ
(a),() c) & ¥ |
d) w&t 1

\||H\||\||\|\H|| 5
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80. Read the following statements and select the correct answer using the code given below :
Statements :
(a) Summation of ranks method is best suited to measure development levels, when data
used are highly skewed.
(b) Summation of ranks method is quite simple and easy to handle.
(c)  Z-Score method is the robust and most reliable among all the methods used to measure
levels of development.
(d) Use of Principal Component Analysis method should be avoided if inter-correlation
among different components of development weak or doubtful.
Code :
(1) (a), (b) and (c) are correct
(2) (a) and (b) are corrrect
(3) (a), (b) and (d) are correct
(4) (b) and (d) are correct
81. Which one of the following countries holds the first rank in commercial dairy farming ?
(1) USA (2) India (3) China (4) Pakistan
82. Which one of the following years the modern cotton textile mill was first of all established in
Maharashtra ?
(1) 1850 (2) 1854 (3) 1858 (4) 1862
83. Match the List - I with List - II and select the correct answer from the code given below :
List - I List - II
(Name of Dams) (States)
(a) Mayurkashi (i) Tamil Nadu
(b) Mettur (i) Andhra Pradesh
(c) Nagarjunsagar (iii) Odisha
(d) Hirakund (iv) West Bengal
Code :
@ (® (9 (9
W) (v 6 @ )
@ O G @ W)
3) (iv) () @ )
(4) @ ) O
josms i & Fapec




80. frAfafEd Fe =1 7 3R = fSu MU e # I W& IW A1 =97 A
h ¥
(a) T 3iiehe ot forom g o1 ¥or Heher wfafy fashm o Tl o1 Ao i waifyes Suged fafy g1
(b) Y& Heher fafy T § e T B |
() Z- ThR fafy Ygg & o1 I I & Tl o6l |19 &g T30 | ol et gt gfafei o
Gaffersh SUga ¥ |
(d) afe fawma & fafa= sesi & = AR-Gay FUSR IR Fegue & d TqE e favermm
gfafy & TART | s Afeu |
e
(1) (a)() c) W E
() (a) ¥ m‘r%
3) (a)() d) ¥ §
4) (b) 3R ﬂ%"r%
81. FHARTFS Talt wifHT § frafafed § ¥ forg <9 1 vom Tm § 2
1) JTET (2) ¥Rd (3) =M (4) HIfREH
82. Ty=feifad H @ ford o HeR H Ugell IR SMYfeh Yl o el shi LT g8 ?
(1) 1850 (2) 1854 (3) 1858 (4) 1862
83. E-1 = Gell-11 & |1 GHfAd i IR = fSU U Fe § & W& S &1 =9 =L
et Heit-11
(Sier <RT A ) ( TS <hT W)
() FPITERI () dfeTg
(b) TR (i) 3Ty I
(c) NN R (iii) 3fewm
(d) TFS (v) ufeEw s
< :
@@ (b)) (o (d)
1) @v) @) @) ()
2 @ @) @) o (@Qv)
(3) (iv) (i) (ii) (1)
(4) (i) (i) (i)
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84. Which one of the following dates is correct for the normal withdrawl of south-west monsoon
from Indian territory ?
(1) September, 1 (2) September, 5 (3) September, 10 (4) September, 15
85. Guntur district of Andhra Pradesh is known for which one of the following ore deposits ?
(1) Bauxite (2) Anthracite (3) Magnetite (4) Muscovite
86. Who among the following architect-planner prepared Master Plan for Chandigarh City ?
(1) Charles Correa (2) Frank Lloyd Wright
(3) Edwin Lutyens (4) Le-Corbusier
87. Jharkhand ranks third after which one of the following group of states in the availability of
coal reserves in India ?
(I) West Bengal and Chhatisgarh ~ (2) Odisha and Chhatisgarh
(8) Odisha and West Bengal (4) Chhatisgarh and Karnataka
88. Adityapur Special Economic Zone (SEZ) is famous for :
(1) Engineering and Machine tools
(2) Wool Textiles
(3) Automobile and Autocomponents
(4) Dairy products
posos [ THHIHANRLANAN . Fapec




84.

85.

86.

87.

88.

IR &3 | Sferor-ufvem Ay aradt o6t freafafed § 9 &9 @ fafy wd@t g2

(1) 1 fqa=r (2) 5 faaer (3) 10 THa=R 4) 15 THa=R

3Ty < 1 TR Toen Ffafed § 9 form @ o s vver & foe gfas © 72

(1) diemmEe (2) TYEREe (3) HHeTEE (4) TERETEE

frfafed # 9 frg arger - e 3 d<€ig et &1 9l @F’ aR fwan on?
1) =™ HRI (Charles Correa) 2) W dae e

(3) Tsfem gleaw (4) w-wefer

FHIIA YUER % T H 9IRd & FAfafed § § fha T 98 & 9% dREvE 1 16 WM § 2

(1) dfY=m Ima iR BAETg 2) slifewn iR BT

(3) sfifesn iR dfeem sma (4) TAETE AR FHAH

smfeegR fomiw e7fefe S (Special Economic Zone) f=fafed # & forae fow ufas 872
(1) ESifd o) wefe 2o
(2) T IS

(3) SAemEEa IR Al ueH

4) =T sarE
rosons [T AEAI 5



89. Match the List - I with List - I and select the correct answer from the code given below :

List - I List - II
(States) (Per Capita SGDP in, 000 X; 2015-16)
(a) Haryana @@ 156
(b) Karnataka @i 115
() Kerala (iii) 180
(d) Punjab (iv) 146
Code

90. Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : India has not been able to bridge its trade deficity.

Reason (R) : India’s exports in terms of value has been declining.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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89. Hei-1 =l Geli-11 o |1 GAfAd i iR = U T e § & W& S 1 =9 =L

— — — —
(@)
~

1
2

1)
(2)
(3)
(4)

4

geit-1 git-11
(=) (vfa =afea T@ St St W, 9/ BU=t, ® 99 2015-16 )
B () 156

FHAeH i) 115

HIA (i) 180

EEIC] (iv) 146

@ () (9 (@

O @) () (i)

(i) (@) @v) ()

(i) (v) (@) (i)

(iv) (@) () (i)

90. = T e fau U €, weh IfveRY (A) IR TEI deh (R) ¥ 1 e foU T e # § W S g ;

AR (A) 1 9RA TT IR =1 H1 T H Tl & &I 2

T (R) : oI & T § 9RA 1 Fafd wedl &1 )

e

1

)
2)
3)
@)

(A) 3R (R) <1 9t € 91 (R), (A) T Tl AR T

(A) 3R (R) I &t ¥ fohg (R), (A) T W&t =0 76
(A) W& %, T (R) Te B

(A) T T, fohg (R) T2 1
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91.

92.

Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Map Type) (Information Content)
(a) Chorochromatic (i) showing regional variation in distribution by shades
(b) Choroschematic (i) areal distribution by Tints
(c)  Choropleth (iii) showing imaginary lines joining places of equal value
(d) Isopleth (iv) areal distribution by symbols

Code :

@@ (b)) (o) (d)

1 O G @ ()

) @Gv) @) (@) ()

G) @) @Gv) @ ()

@ Gv) @@ @) ()

On a topographical map of 1 : 50,000 scale the contour Interval is given as 10 meters. Place
‘A’ is situated on a contour of 200 m MSL and another place ‘B’ is located on a countour of
240 m MSL. The distance between ‘A’ and ‘B” on the map is 4.0 cms. The correct gradiant
between ‘A’ and ‘B’ therefore would be :

1) 1/30 2) 1/40 3) 1/50 4) 1/60

)
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91. -1 =l GeAI-11 o F1e GAfad i iR = fSu 0 e 5 § W& S & = =L

efi-1 eft-11
( AfeT T W) (wf=fE gerr)
(a) HRHATH @) IS % e ¥ faer  éng iR gt €
(b)  FTyeenRt (i) N O & o9 ¥ &g T guian §
(c) aofHEh (iti) HHE Hod h TIMl I SIS arell shiedfieh W@nsil s
IR
(d) GEEE (iv) Heondl o HIEEH | & foao

92. 1:50,000 OF (Thal) & TIAFdH THEA § FUred iauat 10 WX foan w=n g1 =M ‘A’ T
200 HIZT TH TH A & T W feerq § 2R Uk 319 TH ‘B’ 240 WX T TH U o HH=d R feoyq
Tl AMfe WA’ 3R ‘B % oE it g 4.0 FAHRI B T W A’ AR B F o WE yaAur
BT

1) 1/30 2) 1/40 3) 1/50 (4) 1/60

1)
yosons [ ITNANENI .



93. Which one of the following codes is correct Rn value of the given distribution of 6 settlements
of an area of gentle topography ?

1 km 4
1.2 km
£
~
7 B~
{632 A
< 5 km >
(1) 0.95 (2) 1.45 (3) 1.63 4) 1.86

94. Which one of the following organisations looks after the receiving and processing of remote
sensing data in India ?

(1) SHAR Centre (2) SDS Centre

(3) LPS Centre (4) NRSC

95. Which one of the following is the correct sequences of various EMR spectrum bands in an
ascending order of wavelength ?

(1) Blue-Green-Red-Ultraviolet (2) Red-Blue-Green-Ultraviolet
(3) Ultraviolet-Blue-Green-Red (4) Ultraviolet-Green-Blue-Red
posons AN u Faper




93. fr=fafed & & &1F 91 %e ¥ s ia & fwdl &5 &1 6 s9Ee % fou T faaeon 1 9@l Rn 0

94.

95.

g?
1km
°——>
Il.ka ‘
£
’ =
{6?) A J
5 km >
(1) 0.95 (2) 1.45 (3) 1.63 4) 1.86

freafafad § 9 SF-91 H1eq vRa # fe ST Ser urd i3Ik SHeh! T 3 & 999r 39 W
Tl T T ?

(1) THTI T AR GU&X (2) TH S TH I

(3) TA W TH gk (4) T IR TEH

T F aed wE § fafi= €ty o Haen ST & frefafed § 9 9@ w8 swE-|r g ?
1) e-T0-ATA- T 2) AT T

(3) I -He-g-ara (4) TOETH-TO-re-ae

yosons [ ITNANENI .



96.

97.

98.

99.

100.

Given below are the two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the code given below :

Assertion (A) : Radars are Considered active sensors.

Reason (R) : These sensors detect objects and their ranges using radio waves.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

A set of sample of 20 places of mean annual rainfall were randomly selected from a normally
distributed universe that has mean annual rainfall of 320 cm. The sample mean was recorded
250 cm with standard deviation of 150 cm. Which one of the following significance tests is
correct for the selected samples ?

(1) Z-test (2) X2 - test (3) F-test (4) t-test

In a frequency distribution of X series having 6 integers with missing one, X;, among them,
the parameters of calculating mean, X, are as 2fx=370 (excluding frequency of missing
X; which is f;=10), 2f=58 (including frequency of missing integer) and X =7.586. Which
one of the following inters is approximately correct for missing X; ?

1 o 2 7 G 8 @4 9

Which one of the following equations represents a true mathematical characteristics of
mean ?

(1) 3(X— X)=minimum 2) 3(X-X)=0

()  3(X—X)=maximum (4) 2(X=X)=infinite

Which one of the following scales is correctly measure the rank-size distribution of
settlements ?

(1) Nominal (2) Ordinal (3) Interval (4) Ratio

-00o0-
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96.

97.

98.

99.

100.

1 31 e fou e €, wa ifieRed (A) IR gHU 9k (R) B 1 9 foU U e § | wE S| g
USRI (A) : TSR =l Giha agsh (HWX) THT S B

& (R) : 3} Gogeh el Tl 1 TN T gU TGl 3R Sk IS ol 9l T € |

He :

1

(A) 3T (R) ST W& € a1 (R), (A) T T& AT |

(A) 3T (R) <1 &t € T (R), (A) T T =men =1 21
) =& B, forg (R) Tora

(A) T B, fRg (R) TR 2|

2

3

(1)
(2)
3 @A
(4)

4

T &9 ¥ foafta T wafte, feet 320 9.5, sitaa anftie gfe §, 9 20 Tl % T T4 =4
o1 = TR T | T W1 gfte Jreg 250 9. qe /e faged 150 9. Rewre fohan 1 ==t
Hidew () * foe frefata § § sE-91 ggergol T g8t e 2

1) Z- g (2) X2 - (3) F-w&o (4) t-Them

6 qUIshl a1l X TR o eTmefa faawer # foed wh X, 1 79 &1 o= e &, e X e
HMEES & ®9 H Sfic=370 (T fIq 7 X; 1 g o BIgH S £,=10 7), 3f="58 (37U YUlieh
=t Tgfa wfed) iR X =7.586 fean mn ©1 e X, & o frefafed § & &1 9 quiies e
T T?

1) 6 2 7 3 8 @4 9

frafafed § 9 -1 e qreg &1 98t Moy fawrean S s § 2

1) 3 (X— X)="AaH 2) I (X=X)=0
(3) 3 (X— X)=-3ifuswan 4) 3 (X— X)=-smffaa

frefafad § ¥ H-1 ol sqee] & {eh-9rss foaaior 1 9& 79 & ?
(1) A (i) (2) e (feETa) (3) IHaud (4) STIU

-00o0-
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